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L. Answer the following y questions : 1 x4=4
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(a) If the mean js 5 and the median is 6, what is the mode ?
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(b) What do you mean by probability?
MRS RS i
(¢) IfAand B are mutually excluswe event, what will be the
value of P(AB)?
A 9% B o5 qfEge 961 2@ P(AB)awﬁSE’a?
(d) Define linear correlation.
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. Answer the following questlons AL R - 2x3=6
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(a): If P(AUB)=0.8 and P(B) O 3 ﬂnd P(A) for mutually
exclusive events A and B. A
It P(AUB)=0.8 &% P(B)=0.3, WHP(AHW@«T%I
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(b) Distinguish leetwcen positive correlatlon and negtive cor
relations.

T ST 4 3 T(<e s #itey ol |

(c) Abag contains 5 white and 3 black balls. Two balls are
drawn at random one after the other without replacement.
Find the probablhty that both balls drawn are black.
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Answer the following questions 1710=10
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(2) State and prove Baye's theorem of probability. Assume that

(b)

(c)

a factory has two machines. Past records show that machine-1
produces 30% of the items of output and machine-2
produces 70% of the items. Further 5% of the items
produced by machine 1 were defective and only 1%
produced by machine-2 were difective. If a defective item

- 1is dracon at random. What is the probability that the

defective item was produced by machine-1 or machine-2.
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(1) State and prove the theorem of conditional probability.
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(ii) State and prove the of multiplication theorem of
probability.
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Find co-efficient of correlation between X and Y from the
following schedule.
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X : 10, 12, 15,23, 25

Y:420,-13, 10,47,°15
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